50

> 50 ~ 50 — : -
S o 5 o : El
o A C : : T 0
g X 4Ok oo IR 3
3 © L : : : =
~ Voo P : $
< 30+ S ERRRRRRR ?
< N : : : : =
v r : : : @
T : : : £
20k o s ST I S
L : : : : A
L : : : : x
o] SEEEECERERY CEPEPE RERERE CEPEPE P E{ } EERETEPE o
L + : : : v

i AR T PO | | 0 0 1 0 ;-
0150:....|....|. R S IR [ T B I ° AR N

kS 3 Fo kS
04 r o r o

/| ARt 00 R A0 0R 1000000 AR [ it ca a a0 AR R0 AR RECAR ARG R I | bR 8 8 0 A A A A0 EE 000100 SR

0¥ =I5 =10 5 0 5 10 15 20 0¥ =I5 =10 5 0 5 10 15 20 5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

—=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet12__ RECO
200 : : : : : : : = 10

o

150

100

<oy > (um

<oy > (um) for PV
al
o
7

000

y > for,merged vertices (um)

D i SR T

<0

LIRS S T S S8 2 8

SNSRI SEN A N e R R £ | LR PR TR REE &1 | LA I S A T A
2@0'....I....I....I....I....I....I....I.... L‘N_....I....I....I....I....I....I....I.... 000....I....I....I....I....I....I....I....

Ratio
RatiQ,

._\

:
'
'

T
:
'

.
T

®o=i5=10 5 0 5 10 15 20 ®o=15=10 5 0 10 1520 05 =15=16° 5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

()| =T EXETET

> 200 a 50: 200 T - T T
a 3 E : : : :
3 F . . .
S i T = 40F : I ;
= - A o 0 : +*_‘ _____ ..
jo - N '_ . . .
£ asof bbb o % : N E
i 20F = '
A L E e
N L E 200 :
o i 10F
R Tls EERRTPPPPR S SRR N 3PP APPRE E :
I oF 400 A
I I ~10F :
0 U 1 1 W 20} I
i —0F ~800f -+ ook e G
i Pl —40F AR I R
o SR o 50} i g0gfisssbsbedhchnd s
IS X : I [ : [
o [ o @ [ o [
[ R T v - : | e 150 E R R 01000 RS
oost - LELTAIEN: oost LLETTRITETITRL oost - LETRIIENT:
=20 -15 -10 -5 O 5 10 15 20 =20 -15 -10 -5 O 5 10 15 20 =20 -15-10 -5 O 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


